
Page : 1 of 11

P - II (1+1+1) G / 20 (N)

2020

GEOGRAPHY (General)
Paper Code : V - A & B
(Economic Geography)

[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.
Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.

.
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Paper Code : V - A
Full Marks : 15 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. Which of the following states is well known for terrace cultivation?

(A) Punjab

(B) Haryana

(C) Uttar Pradesh

(D) Uttarakhand

1Ð ~îû ›öì•Ä ö„þy ä̃ îûy‹Ä •yþ™ ‰þyöì¡ìîû ‹˜Ä ‹y˜y ëyëûÚ

(A) þ™yOyî

(B) £!îûëûy˜y

(C) vþz_îû²Ìöì”Ÿ

(D) vþz_îûy…[þ

2. Hydroelectric power is generated by —

(A) Rivers and waterfalls

(B) Coal power plants

(C) Nuclear reactors

(D) None of the above

2Ð ‹œ!î”%Äê vþzêþ™y”˜ £ëû éôôôé

(A) ˜”# ç ‹œ²Ìþ™yöì“þ

(B) „þëûœy myîûy

(C) þ™yîû›y’!î„þ ‰%þ!ÍÔöì“þ

(D) ö„þyöì̃ y!Ýþ£z ˜ëû
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3.  is an example of tertiary economic activity..

(A) Fishing

(B) Farming

(C) Grazing

(D) Banking

3Ð  £œ “,þ“þ#ëû ö×’#îû xíÅ÷ì̃ !“þ„þ „þyëÅ„þœyþ™Ð

(A) ›ê¢Ä‰þy¡ì

(B) „,þ!¡ì„þy‹

(C) þ™Ö‰þyîû’

(D) îÄy!Bþ‚

4. Which of the following is a rabi crop?

(A) Wheat

(B) Barley

(C) Mustard

(D) All of the above

4Ð ~îû ›öì•Ä ö„þy ä̃!Ýþ îû!î šþ¢œÚ

(A) †›

(B) îy!œÅ

(C) ¢!îû¡ìy

(D) vþzþ™!îûvþz_« ¢î„þ!Ýþ

5. Tea production is an example of .

(A) Plantation farming

(B) Mixed Farming

(C) Subsistence Farming

(D) Commercial Farming
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5Ð ‰þy vþzêþ™y”˜ £œ Ð

(A) îy!†‰þy „,þ!¡ì

(B) !›× „,þ!¡ì

(C) ‹#!î„þy!¦þ!_„þ „,þ!¡ì

(D) xíÅ„þîû# „,þ!¡ì

6.  is an example of ancillary industry..

(A) Cotton textile

(B) Tyre industry

(C) Steel and iron

(D) Petrochemical

6Ð ~îû ›öì•Ä ö„þy ä̃!Ýþ x %̃¢yîû# !ŸöìÒîû vþz”y£îû’Ú

(A) îßþfîëû̃

(B) Ýþyëûyîû !ŸÒ

(C) öœï££zßþ™y“þ !ŸÒ

(D) öþ™öìÝþÆyöì„þ!›„þÄyœ !ŸÒ

7. Which type of soil is favourable for cotton production?

(A) Laterite soil

(B) Black soil

(C) Alluvial soil

(D) None of the above

7Ð “%þœy vþzêþ™y”öì̃ îû ‹˜Ä ö„þy ä̃ ›,!_„þy ¢î öíöì„þ vþzþ™ë%_«Ú

(A) öœy!£“þ ›,!_„þy

(B) „,þ¡Œ ›,!_„þy

(C) þ™!œ ›,!_„þy

(D) ö„þyöì̃ y!Ýþ£z ˜ëû
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8.  is a by-product of coal.

(A) Rubber

(B) Wax

(C) Coke

(D) Asphalt

8Ð  £œ „þëûœyîû vþzþ™‹y“þÐ

(A) îûîyîû

(B) ö›y›

(C) ö„þy„þ

(D) x¢šþÎÝþ

9.  is an example of a renewable energy source.

(A) sun

(B) coal

(C) petroleum

(D) nuclear

9Ð é é £œ þ™%̃ ƒîÄî£yîûöìëy†Ä Ÿ!_« vþzêöì¢îû vþz”y£îû’Ð

(A) ¢)ëÅ

(B) „þëûœy

(C) öþ™öìÝþÆy!œëûy›

(D) þ™yîû›y’!î„þ

10. Which state is known for shifting cultivation?

(A) Rajasthan

(B) Uttar Pradesh

(C) Bihar

(D) Mizoram
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10Ð ~îû ›öì•Ä ö„þy ä̃ îûyöì‹Ä ßþiy˜yhsþîû„þyîû# „,þ!¡ì öî!Ÿ ö”…y ëyëûÚ

(A) îûy‹ßþiy˜

(B) vþz_îû²Ìöì”Ÿ

(C) !î£yîû

(D) !›öì‹yîûy›

11. Which of the following is an example of a cash crop?

(A) Cotton

(B) Sugar cane

(C) Tobacco

(D) All the above

11Ð !˜öìÁ¬y_« ö„þy ä̃!Ýþ xíÅ„þîû# šþ¢öìœîû vþz”y£îû’Ú

(A) “%þöìœy

(B) xy…

(C) “þy›y„þ

(D) vþzþ™!îûvþz_« ¢î„þ!Ýþ

12. Which state is known for the cotton-textile industry?

(A) Uttar pradesh

(B) Jharkhand

(C) Gujrat

(D) West Bengal

12Ð ö„þy ä̃ îûy‹Ä!Ýþ îßþfîëû̃  !ŸöìÒîû ‹˜Ä !î…Äy“þÚ

(A) vþz_îû²Ìöì”Ÿ

(B) Gþyvþü…[þ

(C) =‹îûyÝþ

(D) þ™!Øþ›îD
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13. Primary sector workers also known as  .

(A) Blue collar workers

(B) White collar workers

(C) Green collar workers

(D) None of the above

13Ð ²Ìyí!›„þ xíÅ÷ì̃ !“þ„þ öÇþöìeîû ¢yöìí ë%_« „þ›Å#öì”îû îœy £ëû Ð

(A) ˜#œ „þœyîû „þ›Å#

(B) ¢y”y „þœyîû „þ›Å#

(C) ¢î%‹ „þœyîû „þ›Å#

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

14. Biogas energy is an example of .

(A) Conventional energy source

(B) Non-conventional energy source

(C) Potential energy source

(D) None of the above

14Ð îyöìëûy†Äy¢ £œ é Ð

(A) !‰þîûy‰þ!îû“þ Ÿ!_«îû vþz”y£îû’

(B) x!‰þîûy‰þ!îû“þ Ÿ!_«îû vþz”y£îû’

(C) ¢½þyî˜y›ëû Ÿ!_«îû vþz”y£îû’

(D) ö„þyöì̃ y!Ýþ£z ˜ëû
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15. Forest, fish, livestock are the examples of .

(A) Inorganic resources

(B) Organic resources

(C) Both (A) & (B)

(D) None of the above

15Ð xîû’Ä– ›ê¢Ä– †îy!”þ™Ö £œ Ð

(A) x÷ì‹î ¢Á™”

(B) ÷‹î

(C) (A) ~î‚ (B) ”%öìÝþy£z

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

———————
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2020

GEOGRAPHY (General)
Paper Code : V - B

(Economic Geography)
[New Syllabus]

Full Marks : 35 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Section - I

Answer any two questions. 10×2=20

1. Classify resources based on their availability. What are the differences between
primary and secondary sectors of the economy? What do you mean by
sustainable development? 4+3+3=10

2. What are the problems of Indian agriculture system? What is the green
revolution? 8+2=10

3. Write about the favourable conditions for tea plantation. What is shifting
cultivation? Write down two features of shifting cultivation. 6+2+2=10

4. What are the problems and future prospects of the textile industry in India?
Why Ahmedabad is known as Manchester of India? 7+3=10

Section - II

Answer any three questions.  5×3=15

5. What is agroforestry and social forestry? 5

6. Write a short note on Commercial Grazing. 5

7. What are the problems of the petroleum industry in India? 5
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8. What are the importance of forest resources? 5

9. What are the factors that affect the location of the Iron and Steel industry
explain with suitable examples? 5

îDy %̃îy”
!î¦þy† éôé „þ

öë ö„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ 10×2=20

1Ð ¢Á™öì”îû ²Ìyþ™Ä“þy x %̃ëyëû# ö×’#!î¦þy† „þîûÐ ²Ìí› ö×’# ~î‚ !m“þ#ëû ö×’#îû xíÅ÷ì̃ !“þ„þ
„þyëÅ„þœyöìþ™îû ›öì•Ä “%þœ˜y „þîûÐ !ßþi!“þŸ#œ vþz§¬ëû̃  „þyöì„þ îöìœÚ 4+3+3=10

2Ð ¦þyîû“þ#ëû „,þ!¡ì„þyöì‹îû ¢›¢Äy=!œ î’Å̃ y „þîûÐ ¢î%‹ !î²Õî „þyöì„þ îöìœÚ 8+2=10

3Ð ‰þy vþzêþ™y”öì̃ îû ‹˜Ä vþzþ™ë%_« þ™!îûöìîŸ ¢Á™öì„Åþ öœ…Ð ßþiy˜yhsþ!îû“þ „,þ!¡ì „þyöì„þ îöìœÚ ~îû
”%!Ýþ ÷î!ŸÜTÄ ¢Á™öì„Åþ öœ…Ð 6+2+2=10

4Ð ¦þyîûöì“þîû îßþfîëû˜ !ŸöìÒîû ¢›¢Äy ~î‚ ¦þ!î¡ìÄ“þ ¢½þyî˜y ¢Á™öì„Åþ xyöìœy‰þ˜y „þîûÐ
xyöì›”yîy”öì„þ ¦þyîûöì“þîû ›Äy˜öì‰þÞÝþyîû ö„þ˜ îœy £ëûÚ 7+3=10

!î¦þy† éôé …

öë ö„þyöì̃ y !“þ˜!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ 5×3=15

5Ð „,þ!¡ì î˜yëû̃  ~î‚ ¢y›y!‹„þ î˜yëû̃  „þyöì„þ îöìœÚ 5

6Ð îy!’!‹Ä„þ þ™Ö‰þyîû’éôé~îû vþzþ™îû ¢‚!Çþ® Ýþ#„þy öœ…Ð 5

7Ð ¦þyîûöì“þ öþ™öìÝþÆy!œëûy› !ŸöìÒîû ¢›¢Äy=!œ „þ# „þ#Ú 5

8Ð î˜ ¢Á™öì”îû =îû&c=!œ î’Å̃ y „þîûÐ 5

9Ð öœï£ £zßþ™y“þ !ŸöìÒîû xîßþiy˜ ö„þy ä̃ ö„þy ä̃ !î¡ìöìëûîû çþ™îû !˜¦Åþîû „þöìîûÚ vþz”y£îû’¢£ îÄy…Äy
„þîûÐ 5

———————


